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Entrance Examination for Admission to the P.G. Courses in the
Teaching Departments, 2023

CSS
EDUCATION

General Instructions

1. The Question Paper is having 100 Objective Questions, each carrying one mark.
2. The answers are to be (v) ‘tick marked’ only in the “Response Sheet” provided.

3. Negative marking : 0.25 marks will be deducted for each wrong answer .

Time : 2 Hours Max. Marks : 100

To be filled in by the Candidate

Register | in Figures
Number

in words

Choose appropriate answer from the options in the questions.
(100 x 1 = 100 marks)

1. The term ‘Hermeneutics’ id drawn from
a) Sociology b) Theology
c) Anthropology d) Economics



2. Kohler’s insightful learning provided that learning is
a) An autonomous random activity

O

An event of trail and error

O

)
) A new perception of the total situation
)

o

A connection between stimulus and response

3.  Which theory laid the foundation of Behaviourism?
a) Functionalism b) Gestalt
c) Connectionism d) Structuralism
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Which of the following psychologists is not related with behaviourism?
a) Watson b) Skinner

c) Hull d) Freud

Which of the following terms is not related with the operant conditioning?
a) Insight b) reinforcement

c) Spontaneous Recovery d) Extinction

The branch of philosophy which deals with knowledge is called
a) Epistemology b) Axiology
c) Metaphysics d) Sociology

Which is the first school for the child’s education?
a) Family b) Society
c) Friends d) School

Who is considered to be the father of Sociology?
a) Emile Durkhein b) Kingsley Davis
c) Auguste Comte d) George Payne

Consider the following statements about higher education in India
.  RUSA is a centrally sponsored scheme

[I.  RUSA was launched in 2013

a) landli b) Onlyl

c) Onlyll d) Neither I norll
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10.

11.

12.

13.

14.

15.

Which of the following gave the suggestion to divide the secondary level

curriculum in to Course A and Course B?
a) Wood’s Despatch b) Hunter Commission

c) Wood and Abbot d) Mudaliar Commission

Who declared the 1854 Education Policy?
a) Macaulay b)  William Bentinck

c) Dr.S. Radhakrishnan d) Charles Woods

Gandhiji’'s scheme of basic education was propounded in the year
a) 1936 b) 1937
c) 1938 d) 1939

The famous test to measure achievement motivation is
a) TAT b) CAT
c) Work test d) None of these

The total Literacy Campaign was first started in the state of
a) Delhi b) Mizoram

c) Kerala d) Gujarat

The Right of Children to Free and Compulsory Education Act was passed in the

year
a) 2005 b) 2007
c) 2009 d) 2011
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16.

17.

18.

19.

20.

Which combination of following characteristics correctly describes the
Bureaucratic administration?

(i) Well defined rules

(i) Established hierarchy

(iii) Standard operating procedures

(iv) Good interpersonal relationships

(v) Combined responsibility of completing work

a) (i), (i) and (iv) b) (i), (i) and (v)
c) (i), (iii) and (iv) d) (i), (i) and (iii)

A pigeon is trained to peck at green light. Now it pecks at all lighted spots. It is a
case of

a) Stimulus generalization b) Response generalization

c) Generalization gradient d) Discrimination

The National Literacy Mission (NLM) was started in India in the year
a) 1978 b) 1982
c) 1985 d) 1988

Which of the following is not related to emotional behavior?
a) Mid brain b) Thalamus

c) Hypothalamus d) Reticular formation

Case history method is a part of
a) Behavioural technique b) Study technique

c) Diagnostic technique d) Gamma-technique
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21.

22.

23.

24,

25.

26.

Which of the following is the most important factor underlying the success of
beginning teacher

a) His personality and ability to relate to the class

b) His attitudes and outlook on life
c) His verbal facility and organizational ability
d) His scholarship and Intellectual ability

The basic foundation of physical, mental and personality development are laid in
the period of

a) Adulthood b) Adolescence
c) Childhood d) Infancy

The protocol that reduces greenhouse gas emission is
a) Cartagena Protocol b) Kyoto Protocol

c) Montreal Protocol d) Vienna Protocol

When did The Forest Conservation Act 1980, come into force?
a) 01 April 1980 b) 25 October 1980
c) 01 May 1980 d) 23 April 1980

What is the name of the software package developed by INFLIBNET?
a) CDS b) KALKA
c) SOUL d) Librarian

Which one is the first generation computer?
a) Microcomputer b) Supercomputer
c) ENIAC d) UNIVAC-I
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27.

28.

29.

30.

31.

32.

33.

Which type of software cannot be used on different computers?

a)
c)

System software
Utility software

b)
d)

Application software
All-purpose software

CIET is a unit of which of the following organization?

a)
c)

SIET
NCERT

b)
d)

DIET
EMMRC

Mrs.Olivarez presented real samples of rocks in her General Science class. What
principle did she apply?

a)
c)

Appropriateness
Responsiveness

An example of activity aid is

a)
c)

a)
C)

Overhead projector
Episcope

is a kind of Digital library
LOR
Virtual Lab

b)
d)

b)
d)

b)
d)

Authenticity
Simplicity

Field trip
Diascope

Hot potato
Online quiz maker

In which year information technology act 2000 came into being?

a)
c)

Which of the following is Doordarshan’s educational television channel?

a)
c)

17 oct 2000
19 Nov 2000

Gyan Smrithi
Gyan Darshan

b)
d)

b)
d)

21 May 2000
14 Oct 2000

Gyan Bharathi
Gyan Vidya
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34.

35.

36.

37.

38.

39.

Which is not an example for free education software?

a) Kalzium b) Geo gebra

c) Cloud computing d) Stellarium

Computer assisted instruction is based on principle

a) Classical conditioning b) Operant conditioning

c) Pavlovian conditioning d) Sender conditioning
was the first district wide e-literacy project in India.

a) C-DIT b) IT @ school

c) NIC d) Akshaya

The word communication has its origin from?

a) Greek b) Latin
c) France d) Percian

In which section is dealt with the hacking of the computer system?
a) Sec-68 b) Sec-69
c) Sec-65 d) Sec-66

The University Grants Commission was established with which of the following
aims?

(i) Promotion of research and development in higher education

(i) Identifying and sustaining institutions of potential learning

(iii) Capacity building of teachers

(iv) Providing autonomy to each and every higher educational institution in India
Select the correct answer from the codes given below

a) (i), (i), (iii) and (iv) b) (i), (ii) and (iii)

c) (i), (iii) and (iv) d) (i), (ii) and (iv)
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40.

41.

42.

43.

44.

Which of the following is not dimension of health?
a) Nutritional b) Physical

c) Social d) Mental

World Health Day is celebrated on
a) 1% March b) 7" April
c) 12" May d) 20" June

Environmental Studies is a/an

a) Inter disciplinary Studies

b) Transdisciplinary Studies
c) Intra disciplinary Studies
d) Multidisciplinary Studies

Ecological succession can be caused due to

(i) Overgrazing

(i) Soil erosion

(i) Human activities such as-farming, construction

a) (i) and (i) b) (i) and (iii)

c) (ii) and (iii) d) (i), (i) and (iii)

Wangari Maathai, Nobel Prize Winner in The field of Environment Protection,
was related to

a) Chipko Movement b) Appiko Movement

c) Bishnoi Movement d) Green Belt Movement
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45.

46.

47.

48.

49.

Choose the correct one

a) Environmental Impact Assessment was first introduced by NEPA, 1969
(United States environmental Law).

b) In India, Environmental Impact Assessment notification was formulated in
1994.

c) Botha)andb)
d) None of the above

Principles of management explain how managers should
a) organize and interact with staff b) lead the staff
c) govern the staff d) none of the above

An appropriate use of means and resources for realizing specific objectives is
known as

a) Planning b) Management
c) Finance d) Development

The father of bureaucratic management theory is
a) Henry Fayol b) F.W. Taylor
c) Max Weber d) William Henry Smyth

Assertion (A) : The research hypothesis being the alternative hypothesis (H1)
has to be kept in the domain of acceptability.

Reason (R) : The Null hypothesis (HO) has been rejected at high alpha
(significance) level thereby rendering the possibility of Type |
error quite insubstantial.

Select the correct answer from the code

a) Both (A) and (R) are true and (R) is the correct explanation of (A).

b) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
c) (A)is true, but (R) is incorrect.

d) (A)is false, but (R) is true.

10 R-2123



50.

51.

52.

53.

o4.

Which style of management would be most effective in an emergency situation?
a) Autocratic b) Consultative
c) Delegating d) Participating

Which managerial function clarifies the boundaries of authority and responsibility
within a department?

a) Planning b) Organizing
c) Directing d) Controlling

Which is not the type of administration?
a) Authoritarian b) Democratic
c) Laissez Faire d) Instructional

Match the items of List — | with List — Il and select the correct matching from the
given options

List | List Il
A. Learning by doing l. Naturalism
B. No lofty educational aims Il. Idealists
C. Realization of truth, beauty lll.  Pragmatism
and Goodness
D. ‘World as it is here and now’ IV. Realists
V. Existentialism
a) A-lll, B-l, C-ll, D-IV b) A-l, B-V, C-ll, D-IV
c) A-lll, B-l, C-V, D-l d) A-ll, B-lll, C-lV, D-V

The purpose of formative evaluation is?
a) Monitoring progress of students

b) Decision of what to measure
c) Development of the test
d) None of the above
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55.

56.

S7.

58.

59.

Student performance is compared with clearly defined learning tasks in?
a) Criterion reverenced test
) Standardized test
c) Norm reference test
)

Maximum performance test

The tests designed to predict future performance is?
a) Aptitude test b) Achievement test

c) Norm referenced test d) Criterion reverenced test

Supervision should be primarily
a) Constructive and creative b) Preventive and critical

c) Preventive and corrective d) Construction and critical

What does situational theory of leadership emphasize?
a) Personality traits
Events

)
c) Environment
) Political situation

SSA is a partnership between

a) Central, state and local government
) Central and state government

c) State and local government
)

Central and local government

12
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60.

61.

62.

63.

Match the strategies in Set-l with those of their corresponding characteristics in
Set-ll and select the correct code

Set-l Set-ll
A. Team teaching l. Training in the component skills of

teaching in stages

B. Creative teaching Il. Role playing
C. Simulated teaching lll.  Encouraging spontaneity
D. Micro teaching IV.  Expert interaction

V. Direct interaction
a) A-ll, B-lll, C-V, D-l b) A-IV, B-l, C-V, D-llI
c) A-lll, B-lv, C-l, D-V d) A-lv, B-lll, C-ll, Dl

Who conduct All India Entrance Test for Jawahar Navodaya Vidyalayas
a) SCERT b) NCERT
c) NUEPA d) CBSE

Which one of the following is NOT a form of intelligence, according to Gardner
(1983)?

a) Bodily Kinesthetic b) Spatial

c) Interpersonal d) The visual-auditory dimension.

Which are the main components of Spearman’s two factor theory of intelligence?
a) Primary abilities and secondary abilities
) Specific intelligence and general intelligence
c) Visual ability and spatial ability
)

Emotional abilities and cognitive abilities.
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64.

65.

66.

67.

68.

The theory that we are born with a language acquisition device was formulated
by

a) Jean Piaget b) Ivan Pavlov

c) Noam Chomsky d) BF Skinner

Thinking is a part of cognition because
a) It helps in directing attention towards a stimulus

O

It helps in receiving information

O

)
) It helps in processing information received
) All the above

o

Which of the following is the stage of moral development proposed by Kohlberg
a) Latency Stage b) The Social Contract Orientation
c) Concrete Operational Stage d) Industry Vs Inferiority stage

Which of the following is an effective strategy to reduce children’s gender
stereotyping and gender-role conformity?

a) Discussion about gender bias

O

Emphasizing gender-specific roles

O

)
) Gender-segregated play groups
)

o

Gender-segregated seating arrangement

The concept of ‘Inclusive Education’ as advocated in the Right to Education Act
2009 is based on

a) The behavioristic principles

O

A sympathetic attitude towards disabled

O

)
) Aright-based humanistic perspective
)

o

Mainstreaming of the disabled by offering them primarily vocational
education
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69.

70.

71.

72.

73.

Match the following

Column A Column B

A. Input Hypothesis l. James Asher

B. Total physical response . Prabhu

C. Task based language teaching Ill.  Stephen Krashen
D. Language and mind IV.  Noam Chomsky
a) A-ll, B-1V, C-lll, Dl b) A-lll, B-ll, C-I, D-IV
c) A-lv, B-lll, C-ll, Dl d) A-lll, B-l, C-ll, D-IV

Which measure of central tendency takes into account the magnitude of scores?
a) Mean b) Median
c) Mode d) Range

are used when you want to visually examine the relationship between
two quantitative variables.

a) Bargraphs b) Pie graphs
c) Line graphs d) Scatter plots

Which of the following is NOT a descriptive statistic?
a) t-—test b) Mean
c) Standard deviation d) Range

Match the following

List | List Il

A. ISDN l. Web page

B. URL Il. Video Conferencing

C. Firewall lll.  Internet Standard for Information
Transmission

D. HTTP IV.  Protecting unauthorized access
internet

a) A-lll, B-IV, C-l, D-lI b) A-IV, B-l, C-lll, D-lI

c) A-ll, B-l, C-Iv, D-llI d) A-l, B-lll, C-ll, D-IV
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74.

75.

76.

7.

78.

79.

A research hypothesis cannot take the following form
a) Declarative b) Problem form
c) Question from d) Null form

If a researcher conducts a research on finding out which administrative style
contributes more to institutional effectiveness, it is an example of

a) Basic research b) Action research
c) Applied research d) Fundamental research

What is the name of the conceptual framework in which the research is carried
out?

a) Research hypothesis b) Synopsis of Research
c) Research paradigm d) Research design

In order to pursue the research which of the following is priority required
a) Developing a research design

O

Formulating a research question

o O

)
) Deciding about the data analysis procedure
) Formulating a research hypothesis

Which one of the following is a tentative answer to the research question?
a) Operational definition b) Objectives
c) Validity d) Hypothesis

Which of the following options are the main tasks of research in modern society?
a) Tolearn new things

b)
c) To systematically analyze the investigations/sources with the objective
d) All of the above

To keep pace with the advancement in knowledge
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80.

81.

82.

83.

84.

85.

Survey research studies
a) Circumstances

c) All of the above

Action research is a type of
a) Applied research

c) Survey research

The data of research is
a) Qualitative only

c) Bothaandb

b)
d)

b)
d)

Events

Processes

Quantity research

Population research

Quantitative only

Neither a nor b

Orthopedically impaired children are likely to have

a) Dyslexia

c) Dysthymia

b)
d)

Dysgraphia

Dyscalculia

An 1Q range of 20-35 would indicate what degree of retardation?

a) Mild

c) Severe

b)
d)

Moderate

Profound

Which one of the following is under the purview of the term disability under

“Persons with Disability Act-1996”7?

a) Autism

c) Mental Retardation

17

b)
d)

TB cured

Speech Disorders
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86.

87.

88.

89.

90.

Students of disadvantaged groups should be taught along with the normal

students. It implies

a) Inclusive education

b) Exclusive education
c) Special education
d) Integrated education

Centrally sponsored scheme of Integrated Education for disabled aims at

providing educational opportunities to children with disabilities in
a) Regular school
) Special school
c) Open school
)

Blind Relief Association school

A child who behaves against social rules and regulation is called a/an
child

a) Backward b) Idiotic
c) Dull d) Delinquent

Rank correlation was given by
a) AM. Mood b) Kendill
c) LF.Mass d) Charles Spearman

The programme Operation Blackboard (OBB) was initiated by
a) NPE, 1968 b) NPE, 1986
c) NPE, 2005 d) NPE, 2020

18
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9.

92.

93.

94.

95.

In which city the National Institute of Disaster Management is situated?
a) Kolkata b) New Delhi
c) Hyderabad d) Manipur

In the List-l stages of Piaget's cognitive development are given and in List-Il are
given distinct cognitive features. Match the two lists and choose the code to give
your answer

List | List Il

A. Sensory motor stage |.  Abstract thinking

B. Pre-operational stage II.  Transductive reasoning
C. Formal operational stage [ll.  Object constancy

D. Concrete operational stage I\VV. Reversibility

a) A-ll, B-lll, C-IV, D-I b) A-lll, B-ll, C-1V, D-l

c) A-lll, B-ll, C-l, D-IV d) A-lV,B-I, C-lll, D-ll

A “Skinner Box” is used for
a) Motor learning b) Verbal learning

c) Sensory learning d) Problem solving

Early Childhood Education was launched during the
a) fourth plan b) fifth plan

c) sixth plan d) seventh plan

Permanent difficulties in learning are investigated in?
a) Diagnostic Assessment b) Placement Assessment

c) Summative Assessment d) Formative Assessment
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96.

97.

98.

99.

Which of the following is the correct pairing?

a) Sign-Gestalt Theory of Learning — Bruner

b) Classical Gestalt Theory of Learning - Kohler
c) Field Theory of Learning — Tolman

d) Operant Theory of Learning - Pavlov

The curriculum construction in Indian education is mostly influenced by

a) Child’s Psychology

b) Teacher’s Personality

c) Family structure

d) Constitutional provisions

The vedic schools within the temples in Kerala
a) Gurukula Kendras b) Vidya Niketans

c) Anchuvannam d) Nanadesi

The first English Medium School in Trivandrum was established during the period
a) Swathi Thirunal b) Sree Mulam Thirunal

c) Uthradam Thirunal d) Ramaraja

100. The sangam literature “Tholkappium’ deals with

a) Logic b) Grammar

c) Drama d) Philosophy
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